EXAM B : SOLUTIONS

QUESTION 1
i) Taking x=A4 one possible solution is: (10 points)

 [image: image1.png]IF(A4>=-1;IF(A4<0;SQRT(A4"2+5*A4+3);IF(A4<5;3;ABS(A4-8) ) );-1)





f(-8)=-1 and f(10)=|8-10|=2. (2.5 points)

iii) 
                          x            for  0 ( x ( 4

       f(x) =         (x+4)/2   for x ( 4
          0           for x ( 0                 (8 points)
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 (4.5 points)
QUESTION 3 :
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(2 points for defining variable types, 2 points for correct if structure, 3 points for each of the seven cases)

QUESTION 2 :
[image: image4.jpg]THnerton aaer it (COnLIncot K SeEARg, country e Teringl AN Nekiwat
Select Case continent

Case "North hmerican:

Select Case country

Case "USA": america = Application.VorksheetFunction.Viookup ("USA", [ad:b6], 2, False

Case "Hexica": america = Lpplication.WorksheetFunction.Vioakup ("Mexica”, [a4:h6], 2, False!

Case "Canada": america = Lpplication.WorksheetFunction.VLoakup ("Canada”, [a4:h6], 2, False!

Case Else: america = "pick another country”

End Select

Case "South hmerican:

Select Case country

Case "Brazil": america = Lpplication.WorksheetFunction.Vioakup("Brazil®, [c4:ds], 2, False!

Case "Colmmbia": america = Application.WorksheetFunction.VLookup("Coluxbia”, [c4:ds], 2, False:
Case "Argentina”: smerica = hpplication.WorksheetFunction.Viookup("Argentina”, [ed:ds], 2, False

Case Else: america = "pick another country”
End Select
Case Else: america = "pick another continent”

End Select
et Fanak S




(2 points for defining variable types, 5 points for the outer if structure, 9 point for each of the two inner if structures)
QUESTION 4 :

i)

[image: image5.jpg]FUNEELER LULETVHL L AR DRCE) AN Serapns
interval = Year (Now()) - Year [x)]
Ehd Funetion



(7 points)

ii) [image: image6.jpg]Function quake(country is String) is Integer
Din y As Date

v = Lpplication.WorksheetFunction.HLookup(country, [blig2], 2, False)
quake = since(y)
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(9 points)

iii)[image: image7.jpg]Funpeans quakeyearic S8 Dbl 4 Seeeag
Din y As Integer

y = interval(d)

Select Case v

Case 39 To 58: quakeyear = "there were several strong earthquakes in this decade”
Case Else: quakeyear = "ve have no records for this decade”
End Select

E8d Punecion




(9 points)

